REEFELARBISVEEAHI]

4000 [FEME [ ARE [ BAEE | 2010 |HiGpEbusaa 2002
I TETD)) BB IE [t mE | 5a
BO=EZm JE Om [HEEYS 3 FIE(OhallE) OZ DM )

[OFRREELN)L BERAELN)

XOESREFETHERERETELVNG AL, BXR. BRE. RRELRE SO EGFETEHRL AAREXZOMICBARL TS,

* 5515
BRHEH:__1 A BRAFH_4 A BEHFHEHEEGS) A

@ G155 B (10ad57=Y
A 18

2R 38 48 5H 6H 78 8H 9A 10H 11 12 P
1’52% F[R[ T E[P[F|E[R[F{E[P[F|E[P[F| E[P] F| E[ B[ F| E[ B [F[E[R[F|E[B]F[E[P[F|E[BR][F] =7
fidie] 20 2.0
ke, Bt 20 2.0
[FoREE3 ] 100 10.0
BRE 60 60| 60| 60| 60 60| 60[ 60| 60| 60 60.0
1318 -H 200 60] 60 32.0
EAE 200 20.0
SEEIK 6.0 60| 60 6.0 6.0 30.0
IR 800 | 800 [ 800 | 8o00| 800 800 | 800 | 800 800 720.0
H T E B 800 | 800 | 800| soo| 800 800| 800| 800 800 720.0
0.0
0.0
0.0
0.0
a8 it 00] 00] 00]00]00[00] 40 00]100]200] 60] 60200 6.0 601660 [1660 | 166.0 | 172.0 | 172.0 [172.0 | 172.0 [ 1720 [160.0 [ 00| 0.0 [ 0.0 [ 0.0 [ 00| 00| 00] 00| 00] 00[ 00[ 00| 1596.0
X EERIT, AREHOHTHA,
SRR
RA—LB—F 58— (O—5)—)  JLFv—, EEH
O EIHAR R UREIREE
A 18 | 2R | 3H | 4H | 5H | 6H [ 7H | 8H [ 9H [ 10 [ 1A T 12H Be
3] ETR]FIE[R[FIETR[FIE[R[FIETR[FI L[] F] E [ [ F[ E[ F [FIE[R[FIE[R[FIE[R[F[E[R[F O:t#i
:l
O:EHE
e AR e} © " E B §E E E N BB WRFE
IR (kg/10a) 33 100 100 233
H{fi(M/ke) 4000 4000 4000 4,000
£%5(F/10a) 0 0 0 0 0 132,000 400,000 400,000 0 0 0 0] 932,000
BIZEY(F/104 0
&t 932,000
SIEEFE(10adr1=Y) S E#H(10adp1=Y)
[t BE Hill | FRE%R | =& e ] BE 28
0 0
0
i 232,078 =Xl 10,947
S FE(10adr1=Y) _
2% EHEke) ki T B 8 O NFEH(10ad 1Y)
0 [T | F8H | W 28
0
0
0 aat 59,601
0
0
0 @ EiEYEE(10ad 1Y)
(TS B fff HE Eaa]
Yl 15,812 0
X2 = AR x ElH% 0
S Z DIt FEM I E(10adp7-Y)
2% RIg B fff HE FERAER Ea]
=X 131,487
S ZTDMDER
[EES 3
B 183,790
&=l x HE-EREY &t 125,648
@ EFEH(10ad1=Y)
X3 E T = Bhe EIE 2% QEHZEH(10adH1=Y)
0 #H E3]
0 BER 232,078
&5t 0 15,812
183,790
OB N HHIKHE(10adp 1Y) 0
S & B BE | GRAER | =% 38 44,883
0 B 10,947
0 ZHOFRH 59,601
0 EYES 131,487
0 ZDHDER 125,648
0
0 A&t 804,247
5§ 44,883 KERBRREATHEDOAHTELA




